
. A particular hydrogen-like ion emits radiation of frequency 2:467x 10 Hz when it makes transition from = 2 to n = 1. What will be the frequency of the radiation emitted in a transition from n = 3 to n= 1? 
Solution: The frequency of radiation emitted is given by 

v=f=K 2 
n 

Thus, 2:467x 10 Hz = K| 

K=x2467 x 10 Hz. or,

The frequency of the radiation emitted in the transition 
n= 3 to n = 1 is 

v= K 
3 

4 
K=xx2467 x 10 Hz 

= 2-92 x 10" HIz. 



{ "type": "Document", "isBackSide": false }

